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(2) HEESHEK

(ERk 2 9 4F)

@%IJ*&% MO OHE % o K E O 8 -
ER: KOS B | = k| HE | Tof | N
1 A 807 3 8 2 13 82 108 915
2 632 10 10 4 12 51 87 719
3 A 719 6 9 1 7 70 93 812
4 A 607 2 13 1 4 53 73 680
5 H 685 6 9 1 7 51 74 759
6 A 622 6 13 4 5 41 69 691
7 A 717 4 11 2 2 55 74 791
8 A 769 2 14 6 8 51 81 850
9 H 638 4 10 1 11 63 89 727
10 H 706 4 12 1 12 47 76 782
11 A 687 3 19 1 8 52 83 770
12 A 762 11 12 0 9 70 102 864
A& #H | 8 351 61 140 24 98 636 1009 9,360
(3) 11 9FZHERMR
(ERk 2 9 4F)
FE 1) w | o ZOMD| agacr | =4 e - -

D D [ gs = fEd | & B\ \W=T 5| BhEWy [ Zofth 5t
1 A 4 752 54 147 25 24 68 89| 1,163
2 J 3 592 41 95 26 5 30 95 887
3 /A 6 666 43 121 27 21 63 95 1,042
4 A 1 578 31 82 28 19 39 86 864
5 H 15 639 28 112 27 24 39 114 998
6 A 4 575 27 101 35 20 44 106 912
7 10 671 25 120 28 28 62 117| 1,061
8 A 3 711 34 127 18 13 59 119 1,084
9 J 1 594 41 114 38 20 38 113 959
10 H 4 644 31 102 48 17 56 146| 1,048
11 A 635 29 115 46 20 38 119| 1,005
12 H 41 699 49 132 34 15 48 139| 1,157
& i 95| 7,756 433| 1,368 380 226 584 1,338[ 12,180
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(ERE 2 94E)

x = 2 B = iR JETA] ) = WE | &S
7 (%) 49 (w/s) (om) | (cm)
S E | &5 | ¥ | & | &% | ¥ | & 5 5 10 | & | F 3 3
% l X
M| 2| | S x| 10| X 55} =
A 5l B FS =0
& wmE | B | & | &% | R W E | # | B B B
1 A 3 26 1 1 0 |89.4 |11.9 |46.5 | 19.1 | -3.2 | 5.5 | ke | 26 5 0 |244 | 3.3 420( 0
2 A 1 18 8 0 1 |89.7 | 12.7 | 42.7 [ 17.7 | -0.3 | 6.4 | dkes | 18 10 0 |260 | 42 245 0.7
3 A 0 20 6 5 0 |88.6 |11.6 |54.0 |18.2 | -0.4 | 7.9 | 4tE | 29 2 0 |[19.2 | 3.0 95.5( 0
4 A 0 19 8 3 0 |91.3 | 14.4 | 59.5 | 24.7 | 3.8 | 14.0 |FEmEAE| 24 6 0 | 241 | 4.0 1345 0
5 A 0 18 12 1 0 |90.0 |20.2 |64.3 309 | 9.4 |19.4 |FEEEE| 27 4 0 |21.9 | 3.3 50.5| O
6 A 0 12 16 2 0 |[905 | 14.9 | 653 |29.9 | 14.8 | 21.4 |FEEETE| 29 1 0 |220 | 3.2 450| 0
7 A 0 19 11 1 0 |[91.9 | 27.2 | 69.8 | 34.1 | 21.1 | 26.7 |FEEETE| 23 8 0 |17.1 | 3.8 945| 0
8 A 0 11 18 2 0 |92.2 |288 | 74.6 | 37.3 | 19.0 | 25.9 | dEE | 29 2 0 |179 | 3.1 1050 ©
9 A 0 16 11 3 0 |91.6 |27.4 | 705 |31.1 |15.2 |22.4 | dt3 | 27 3 0 |30.0 | 3.0 187.5| 0
10 A 0 12 8 11 0 |92.2 |225 |73.9 |30.2 | 84 |16.5 |ddkE| 28 3 0 |[282 | 3.4 4410| 0
11 A 0 19 10 1 0 |90.5 |21.6 |605 |21.8 | 1.2 |11.7 | 4tF | 29 1 0 |[212] 26 55.0 0
12 A 0 26 5 0 0 |89.4 |136 |49.6 | 16,5 | -1.0 | 6.4 | 4tFE | 30 1 0 |[19.3 | 29 17.0| o0
i i 4 216 | 114 | 30 1 |92.2 |11.6 |60.9 |37.3 | 3.2 | 15.4 | 4k¥6 | 319 | 46 0 |30.0 | 33 [1,2920] 0.7
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1A |28 |3R | 4R |5A |6A | 7H | 8A | 9A |10A |11A [ 128
CRE%E| 191 | 177 | 182 | 247 | 309 | 299 | 341 | 373 | 31.1 | 302 | 21.8 | 165
EIRESE| 32| -03|-04| 38 | 94 148|211 |190| 152 | 84 | 12 | -1.0
“O—=E¥yKRB| 55 | 64 | 79 | 140 | 194 | 214 | 267 | 259 | 224 | 165 | 11.7 | 6.4
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100.0
900 1 ] M —
800 -
700 —04'0\04'0\ -
600 H L=
500 | A NO—
400 - -
300 H -

oo |l L HHR

1B | 28 |3R | 4R | 5B |68 | 7B | 8A | 9A |10A | 118 | 128

CREEE| 894 | 897 | 886 | 91.3 | 900 [ 905 | 919 | 922 | 916 | 922 | 905 | 89.4

CRIEEE| 119 | 127 | 116 | 144 | 202 | 149 | 272 | 288 | 274 | 225 | 216 | 136

—O— 4R | 465 | 427 | 540 | 595 | 643 | 653 | 69.8 | 746 | 705 | 739 | 605 | 49.6
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NONON NN NN N

100.0
50.0

0.0
1A | 2R 38 | 4A 5H 6H 7R 8H 98 [ 10A | 11A | 124
OREM=| 420 | 245 | 955 [1345] 505 | 45.0 [ 945 | 105.0 | 187.5( 4410 55.0 | 17.0
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B, 3 m/s

40.0

35.0

30.0 —

25.0 —— | —

200 | - ] 1

150 ] -

100 —

5.0 4()———C)-.<>__— = — I - —

00 1A | 2B |3B |48 |5A | 6B | 7R | 8A | 9B [10A | 11A | 12R
CRKER| 244 | 260 | 192 | 241 | 219 | 220 | 17.1 | 17.9 | 300 | 282 | 21.2 | 19.3
—O—FigmE| 33 | 42 | 30 | 40 | 33 | 32 | 38 | 31 | 30 | 34 | 26 | 29
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